3sinxcosx + 4sinx = 4- 3cos"2x + cos X
3sinxcosx + 4sinx- 4+ 3cos”2x - cos x=0
(3sinxcosx+3cos”2x) + 3sinx+sinx- 3-1 - cos x=0
(3sinxcosx- cos Xx) + 3sinx- 3-1+sinx +3cos”2x =0
cosx(3sinx-1) + (3sinx-1)-3+sinx +3cos”2x=0
(3sinx-1)(cosx+1)+sinx+3cos*2x-3=0
(3sinx-1)(cosx+1)+sinx+3(1-sin*2x)-3=0
(3sinx-1)(cosx+1)+sinx+3-3sin*2x-3=0
( )
( )

[3 pewnTb pasnoXxuB sinxX 1 coSX No
dpopmynam ABOWHBLIX YrinoB (YTO NPUBELET K
MNOSIOBUHHBLIM Yrfiam)

cosx+1-sinx=0
-2sin(x/2)*cos(x/2)+2cos"2(x/2)=0
2cos(x/2)(cos(x/2)-sin(x/2))=0

2cos(x/2)=0 cos(x/2)-sin(x/2)=0

3sinx-1)(cosx+1)+sinx-3sin*2x=0 X/2=P/2+Pk cps(x/2)=sin(x/2)
3sinx-1)(cosx+1)+sinx(1-3sinx)=0 X=P+2Pk sin(x/2)/cos{x/2)=1
(3sinx-1)[(cosx+1)-sinx]=0 tg(x/2)=1
3sinx-1=0 (cosx+1)-sinx=0 X/2=Pia+Pk
3sinx=1 cosx+1-sinx=0 X=PI2+ZPK
Sinx="3 COSX-sinx=-1
x=arcsin(1/3)+2Pk V2[cosx*1/V2+sinx*(-1)/V2]=V2[cosx*sin(3P/4)+sinx*cos(3P/4)]=
x=P-arcsin(1/3)+2Pk =V2*sin(x+3P/4)=-1
cost=-1/V2
sint=1/V2
t=3P/4
sin(x+3P/4)=-1/\V2
x+3P/4=5P/4+2Pk x+3P/4=7TP/4+2Pk
x=(5P-3P)/4+2Pk x=(7P-3P)/4+2Pk

x=P/2+2Pk x=P+2Pk



